Name: Date: HW #8 Substitution

.’f\’aluale each of the following when x = 5, b = -3, and m~
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Kinetic Energy Surface area of a Volume of a Volume of a cone 1 Area of a circle Sty
. cylinder cylinder ] -
k is kinetic energy | S is surface area in | J/1s volume 1n l71s volume 1n A 1s area 1n square
- 1n joules square units cubic units cubic units units
77 1S Mass 1n nx3.14 n~3.14 nt~3.14 nx~3.14
kilograms » is radius in units | # is radius in units | 7 is radius in units | » is radius in units
v 1S velocity in h is height in units | 4 is height in units | 4 is height in units
' meters per second . |
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Maggie and her little brother both got a partait cup

filled to the brim at TCBY as shown below. -E—\ \\
Approximately how much frozen yogurt did the eat
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& together 1f the height is 6 inches and the radius is 1.5

inches?

Approximately how many square centimeters
of foil will be required to cover the entire (s
.

(surface area lof the satellite?
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